Distributive Property Extra Practice

Distribute and Evaluate the Following

Name

3 (5 + 2) Expression 8 (3 + 4) Expression 2 (7 + 2)
Distribute Distribute
Evaluate Evaluate
5 (4 — 1) Expression 4 (9 - 3) Expression 5 (l 0— 6)
Distribute Distribute
Evaluate Evaluate
o/
6(7 + 2—5) Expression 8(3-{-4—2) Expression 12(1+ 2+3)
Distribute Distribute
Evaluate Evaluate
7(3—2+7) Expression 5(6+9—8) Expression 11(7—2—5)
Distribute Distribute
Evaluate Evaluate




Distribute to Expand the Following

2 (4x - 9) Expression 6 (a - 8) Expression 5 (3x - 7) |
-
Distribute Distribute
8 (4x - 3y) Expression 7 (3x + 6y) Expression 5 (5x2 - 2b)
Distribute Distribute
IZ(X'—y'-I-'Z) - - Expression -2(a—42b-3c+4) -Expression . _ 9(6x-f3b)
Distribute Distribute &T
3(2x—9)+7 Expression 6(4x+3)—7 Expression 12+8(x—1)
Distribute Distribute
Combine Combine
Like-Terms Like-Fferms
4(9x+10)—10x Expression 6(8y—3)+ y Expression 2(80+ Sb)—l()b
Distribute Distribute U
Combine Combine
Like Terms Like Terms




Distribute to Expand the Following

| 16 +12 Expression 27+9 Expression 45+18
Answer Answer
36-24 Expression 42 -16 Expression 72-36
-/
Answer Answer
24 +18-32 Expression 18+21+33 Expression 42 -30+24
./

Answer

Answer




Distribute to Expand the Following

18x+12 Expression 8x +24 Expression 24x+18
Answer Answer
20x+35y Expression 54q-18b Expression 28n-16p
Answer Answer
18m+27n+90g  Expression 24a-3b-9c Expression  20a—40b+80c¢
-
Answer Answer




" Distributive Property Extra Practice Name kC\‘l

Distribute and Evaluate the Following
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4z + 12 - 30 74 v 32 - e 12+ 24 + 30
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Distribute to Expand the Following

)
2 (4x - 9) Expression 6 (a - 8) Expression 5 (3x - 7) 5
20x) - 209) o-o-0-% 5(3x)- 3(1) H
dx — 1% Distribute (oa - HR Distribute 1Sx 35
Y
3 (4x - 3y) Expression my) Expression 5 (sz - Zb)

3 x) - 8(3¢) 7(3x)+ Uey)

5(sx?)- S(2b)

02k - ZH\,{ Distribute Ly~ le\'l Distribute 25x°-10b
VSR 7 )
12(x—y+z) ~ - Expression 2(a —2b~3c+4) - Expression. - 9(6x—3b)

7 o- 2(2b)-2(3c)*2(4)

Qllx )- 9(3b)

|7 x- \Z\! 122  Distribute 26~ Hb -lc Distribute My -27b
N N
3 (2x - 9) +7 Expression 6/(1;?3) -7 Expression 12+8 (x - 1)
2(2x)- A9 + 7 LU FG3)-T \Z + 8x+8(1)
by -27+1 Distribute 2.4 x ¥ 18 -1 Distribute 12 ¥ 3% = 3§
) R | — —— pa—
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" Distribute to Expand the Following

\_/ ZIM Expression 3[27 +9 Expression %) 45+18
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Distribute to Expand the Following
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